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4. Order the numbers from least to greatest.
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2. Write the rational number represented by each letter on )
the number line, as a fraction and as a decimal.
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3. Write 3 rational numbers between each pair of numbers.
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6. Determine each product or quotient.
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Two students were asked to evaluate: (—8) — 2(24 + (—8))?
Here are their calculations.

R L
= oy puubpled

‘, =) -0 _DQL‘L

- -
(-3’
Why did both these students get incorrect answers? 8 ;2’
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9. To pay for a skiing holiday in Whistler, Paige
borrowed $1450.50 from her parents. She pays back
$30.75 each week. How many weeks will it be until
Paige is no longer in debt? Justify your answer
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